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1‘::2n1urfrl__r2, R = 376.8 rad/s
T =27 x 3 x4.80 x 1075 x 0.45% x 376.8 x 102 = 3.10 kg — m
2.
Prr=10°x 0.3 x (0.6 x 1) = 1.8 x 10* kg
Prr, = 0.80 x 10° x 0.6(1.2 x 1) = 5.76 x 10* kg
Pret = Py — Pup = (5.76 — 1.8) x 10% = 3.96 x 10% kg to left
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Rmd:1W%waf—§xoﬁxL2x””3+08xw%1wxmx1—2m
= (0.44 +0.90) x 10* = 1.34 x 10> — 200 = 1, 140 kg upward
3.

De + Yarh + 1007, = pe + 74(100 + A — 0.09) + 0.097,,
0.097, + 74 (100 — 0.09) — 1007,
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~0.09 x 90 + 1.3(100 — 0.09) — 100 x 0.5
B 800 — 1.3
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= 0.213m




